run_13083027 _FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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[ADC for FGT RDO=1,ARM=1,APV=0 }

ADC-ped

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=1 }

ADC-ped

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=1APV=2 }

i i
1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=3 }

ADCApeg

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=4 }

ADOpeg

2000 3000 4000

raw ADC

[ADC for FGT RDO=1ARM=L,APV=0_}

= 4000 p—
] =
& =

Q 3500 f— - -
< =

3000 f=— - -
=

2500 f=— - -
=

2000 fm—— - -
=

1500 f=—— - -

1000 p=— - -
=
=

500 p=— - -
=
=

ofE—-

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=1 }
= 4000 p—
] = . . . . . .
5 =
8 3500 fm——- -
< =
3000 f=—— - -
2500 fm— - -
2000 f/— - -
=
1500 f=— - -
=
1000 f=— - -
=
500 f—
=
ofE—--
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=2 }

= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 F=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 40 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=1,APV=3 }
= 4000 p—
] = . .
& =
Q 3500 f=— sebe TR
< =
3000 f=— CES EEN Y EEEE RS
2500 = [ R R
2000 fm— aajaadpogeaniials
=
1500 f=— St EEEE
1000 P=— - v - b e e e PR TR S EREE T
= 8
= 8
500 p=—-----feceonn afeolieadpeqlosiele
= 8
Of— - r-fmmmamnn A A e
= 2
= 1
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13083027 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Fri Mar 23 09:34:37 2012

[ADC MPV for RDO=1LARM=L,APV=0_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=1 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=2 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=4 "}

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13083027 _FGT_RMS_1,Timebin=2,Disc=2,asmb=2DA
Fri Mar 23 09:35:12 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=1 }

RMS (ADC-ped)

350 f=
300
250 o
200
150 u

100

m =

1
9 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=2 "}

RMS (ADC-ped)

300 f——r e D O NEEEEEEEEEEE e EEE T NEEEEEEE e EEEEEET

i
120

APV channel

RMS (ADC-ped)

450

400

350

300

250

200

150

100 ——

50

i i
® 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=4 "}

RMS (ADC-ped)

i
120
APV channel




run_13083027 _FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Fri Mar 23 09:32:50 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




2DA

2,asmb

ISC=

=2,Di

In=

38 2012

b

:34

ime

Fri Mar 23 09

51

1,APV=!

run_13083027_FGT_MPV_1,T

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=6 .
=7}
8 ]
|

1,APV
1,APV
1,APV:
1,APV

1,ARM
LARM:
1,ARM
LARM

1
il

[CADC MPV for RDO

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13083027 _FGT_RMS_1,Timebin=2,Disc=2,asmb=2DA
Fri Mar 23 09:35:13 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13083027 _FGT_ADC _1,Timebin=2,Disc=2,asmb=2AB

Fri Mar 23 09:32:52 2012

ADC for FGT RDO=1ARM=LAPV=12 _§

2

ADCApeg

1000

2000

3000 4000
raw ADC

ADC for FGT RDO=1ARM=1APV=13 _§

2

ADOpsg

I
3000 4000
raw ADC

ADC-ped

1
1000

1
3000 40(
raw ADC

i
2000

S}

ADC for

FGT RDO=1,ARM=1,APV=15

02

I3

ADC-pe

1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=LAPV=16 __§

2

ADOpeg

1000

2000

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 f=——
=
500 fm——
=
=
ofFE—
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
- 4000 p—
g = H H o o o
9 E e e T e B e S R P E PR R R TE SR T
< =
gD |[=—pe=q°ooo9500508s005c0000550050909055000059500p0959¢80050095005095905508H0950050595965505903500509556550990954(030950
Bl e TR e P L E T S T S PP PP
B e e e ] A P ] A PR R TP PP PP SR
=
1500 P e = = e s
=
EL Tl e B e A S R P PP PP PP PP
=
500 f=—|- - - EERREE
=
T B T e B TR RPEITE SRR
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=14 }
- 4000 p—=
] = . . . . .
g = 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
- 4000 p—
5] = . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
.- 4000
g 5 5 5 5 5 g
9 3500 L TR R T .-
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13083027 _FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Fri Mar 23 09:34:38 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13083027 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Fri Mar 23 09:35:13 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

250 s et rreriimmresiiieiiieresieteiommetesiesei-etesosieioieiasoaisi-saieiooi-o o EL T e LT P

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

RMS (ADC-ped)

1
120
APV channel
[ ADC RMS for RDO=1,ARM=1,APV=14 "}
= —
g = 1] : : : : : :
15} 100 f—ff - e e R TR PR S T R fhoocoscoosossaosconsanad Poososcoooooco0sca000ag Boooacoos0o000a00050009 Bocoosos
a — . . . . . 5
< : . .
I
3
3

i
120
APV channel

[ADC RMS for RDO=1,ARM=LAPV=15__}

g Bl eaeeRaRaneRaRasaaaaaag oRaPaceRaRaseaaaaaanan HERRER R PO S IR poo°eeeeeecEeeeaRaRans porne
Q —
3 [—
5(/ b—
* 400 P e e il
3 —
['3 —

i H
100 120
APV channel

RMS (ADC-ped)

i . . . i
100 120
APV channel

:HL’ETHITH I[H




run_13083027 _FGT_ADC _1,Timebin=2,Disc=2,asmb=2AB
Fri Mar 23 09:32:55 2012

ADC for FGT RDO=1ARM=LAPV=17 _§

[ 1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=18 _§

2

ADOpsg

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=LARM=LAPV=19
—

2

ADCApeg

0 1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=1,APV=20

ADC-ped

3000 4000
raw ADC

1000 2000

ADC for FGT RDO=1ARM=1APV=21 _§

2

ADOpsg

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

Py
lw)
O
|
p=
X
<
|

[ ADC for FGT

p=
T
<]
11
=)
|
b

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=1,APV=19 }

APV channel

= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=r— |- = - - - - - ..
< =
3000 f=—|- - - - - - - ..
=
2500 f=—1- - - - - - - .-
=
2000 = PR
=
1500 =+ - - - - - - .-
1000 p=—|- - --- - - .-
=
500 f=— e - - - e e ..
=
= =
=
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=20 }
= 4000 p—
5] = 5
o = 2
Q 3500 FE—1- {1 aoafbacadbdfoses .
< =
3000 f/—|-{-{-- - PR R B . dboooo
2500 fp=—y-{-{- -1 - PR R 1 P dooas
2000 p/—|-{-1- -+ - R A Y P B
=
1500 f—|-{-1- -t - soobacadbdoace .
1000 P=—|- - {- -t -r-- - dqe b g e
= 2
= 2
500 =t~ - 4= - or e es e p e e s
= 2
[ =l B BE EN TS FEEE RS PRSI RS BF PR e
= 2
= i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13083027 _FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Fri Mar 23 09:34:40 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13083027 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Fri Mar 23 09:35:15 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

500 -

RMS (ADC-ped)

1

120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=19 }

= —
3 = : : : : I : :
) 300 - s L CEE T LR PP R EEEE LR PR o EEEE PP O LEEEEETEES F CEEER o EE LT PP EEEEEER
a — : o .
$ — . . . .
] 250 e e e fosososcooooacsasascacad bosoooos0ca05050000005 Boca0os00800000
x . . . .

i
120
APV channel

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

T S S N B R U

500

FHITT

RMS (ADC-ped)

300

200

100

IEO0XECOIENOIEEOOXE

O-I‘II

20 40 60 80 100 120
APV channel




run_13083027 _FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
Fri Mar 23 09:32:59 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

ADC-ped

10

3000 4000
raw ADC

[ 1000 2000

[ADC for FGT RDO=1,ARM=2,APV=1 }

ADC-ped

i1k

0 1000

Shill
3000 4000
raw ADC

i
2000

[ADC for FGT RDO=LARM=2,APV=2 }

ADCApedOA

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=3 }

ADCApeg

3000 4000
raw ADC

2000

ADC for FGT RDO=1,ARM=2,APV=4 l

ADC-ped

3000 4000
raw ADC

0 1000 2000

[ ADC for FGT RDO=1,ARM=2,APV=0

4000

10°

10"

° =
] = .
o = :
Q 3500 f=—|- </~ {-t-f---- EEEE B R £ PR R | R E T
< =
3000 P=f—|- <= {-t-f---- R L Rl EEL L EE R
=
P = o EEERER S RERER e R R e R R EL LR
= .
2000 f=—|- <~ {-t-f---- e R Rl EEL LR e L EE EELLELE
= i
1500 |- [« 4=t < p -~ - B B ] e e R
1000 P=t—|- A= 41 -f - - - 1 EFEE B BUEEE £ EPE PR | DEEEEEE PR PR
= 8
= 8
500 fet—|- (- 4=t fo-n-H caol|olleposdhlsllocalsoscosdsclboscasss
= 2 8
= =| = = H =
= oG SRR £ 00 B R B RPN | PEPRESE PPl EPREPE
= i i i i i i
0 20 40 60 80 100 120

[ ADC for FGT RDO=1,ARM=2,APV=1

APV channel

4000

3500

ADC-ped

3000

2500

2000

1000

500

0

10

10

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
B
i
=
0

[ ADC for FGT RDO=1,ARM=2,APV=2

4000

" 1
60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldENATERIAGNATGRAAGNAGRARRIATENATENATENAG]

10

10°

[ ADC for FGT RDO=1,ARM=2,APV=3

4000

APV channel

il

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

© TFTFATFAT TR AT TR AT

[ ADC for FGT RDO=1,ARM=2,APV=4

60 80 100 120 10}

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10°

10"

© R A A A

APV channel




run_13083027 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Fri Mar 23 09:34:41 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13083027 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Fri Mar 23 09:35:16 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

350

300

RMS (ADC-ped)

250

200

150

100

it o

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

50

0

°FHH HH[H'I'I'|'I111|IIH'I'I'I'I 11|I|

i
120
APV channel

350 [=

300

RMS (ADC-ped)

250 [
200
150

100 =

50

0

1
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=2 "}
400

350

RMS (ADC-ped)

300

250

200

IIHI'|1HI'|1IH [T

150

100 p——

TR

i i i
0% 20 20

APV channel

250 2

200 |-

RMS (ADC-ped)

150 f

100 p—
) %
1
0

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

i i
40 60 80 100 120
APV channel

500 e e e e T e PR

RMS (ADC-ped)

“ﬁnﬂl"”ﬂl“ﬂPﬂlﬂllﬂLrlﬂﬂﬂ

.]r’r. 105
120
APV channel




run_13083027 _FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Fri Mar 23 09:33:02 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

ADC-ped

3000 4000
raw ADC

[ 1000 2000

[ADC for FGT RDO=1,ARM=2,APV=6 }

ADC-ped

2000

0 1000 3000 4000

raw ADC

[ADC for FGT RDO=1LARM=2,APV=7 }

ADC-ped

1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=8 }

2000

0 1000 4000

3000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=9 }

ADOpeg

HEER:

2000

1000

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=5 }
4000

3500

ADC-ped

3000
2500

2000

1500

1000
500

0

© B R A A

APV channel

[ ADC for FGT RDO=1,ARM=2,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=7 }

- 4000 p—=
] =
o =
Q 3500 f=— - -
% =
3000 = - -
=
2500 f=—r- -
=
2000 f=— - -
=
1500 f=— - -
1000 pP=—- - -
=
500 f=—r - -
=
ofE—-
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
ofE—
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13083027 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Fri Mar 23 09:34:42 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13083027 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Fri Mar 23 09:35:17 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

400

350

RMS (ADC-ped)

300

250

200

150

0

100

50

il |r|11|r|11 II'|1HI'|1HI'|1HI'|I HI]IHI]I

i
0 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=6 }

250 |

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=7 }

g g1 | F=—cccsoscoc0000000000h0505050559505050590700P505050359505050500000050505055950505050000004050505595050500000000508050559505050000000050505055900
2 :
5]
8 :
< 250 Frmmmm e e
0
s
'3

o

160 P e me et Tl b

T I T N

50 B R T RPP PP R RrEr o

0 1l |-LLI_‘-| |J-L'|—I—|i i i i
20 60 80 100 20
APV channel

[CADC RMS for RDO=1,ARM=2,APV=8__}

= 220
3 =
3 =
o 200

[=]

< 180 [
2 =
2 160

140
120
100
80
60

40

20

0

°'IH|1IT|1H |r|11r|11r|-|1r|-

i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=9 "}
240
220

200
180
160
140

RMS (ADC-ped)

120
100
80
60

40
20
0

i .
120
APV channel

°TII‘|HI i L LG i I1I1IHTI]H1




run_13083027 _FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Fri Mar 23 09:33:06 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13083027 _FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB

Fri Mar 23 09:34:43 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13083027 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Fri Mar 23 09:35:18 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13083027 _FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
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run_13083027 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
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run_13083027 _FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Fri Mar 23 09:33:13 2012
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run_13083027 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Fri Mar 23 09:34:45 2012
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run_13083027 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Fri Mar 23 09:35:19 2012
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run_13083027 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB

Fri Mar 23 09:33:17 2012

ADC for FGT RDO=1ARM=3,APV=12 _§

o
3
5
%)
a
<
10
0 1000 2000 3000 4000
raw ADC
[[_ADC for FGT RDO=1.ARM=3.APV=13 |
o FT
g -
g f:
o f:-
a f:
<
10

Shill
3000 4000
raw ADC

1000 2000

ADC for FGT RDO=LARM=3,APV=14 _§
—

2

ADCApeg

1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=3,APV=15

2

ADCAp&g

1000

2000

3000 4000
raw ADC

ADC for FGT RDO=1ARM=3APV=16 _§

ADC-ped

0 1000

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=3,APV=12_}

= 4000 p—
] =
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
ofE—
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM=3,APV=13 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 f=—--1-----
< =
3000 f=—r-q--- -
2500 fm— - - 4= -
2000 fm— - - {-----
=
1500 f=— v -4 - - -
=
1000 f=— - - {- - - -
=
500 fm— s - - -
=
B
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=14 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— Sfee-
2 =
3000 f=— Sfee-
=
2500 = Stees
=
2000 = SELE
=
1500 f=— SELE
1000 f=— SELE
=
500 f=— afhzas
= =
oE— e
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=3,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 f=— - -
< =
3000 f=—---
2500 fm— - - -
2000 f=—- - -
=
1500 f=— - - -
1000 f=—- - -
=
=
500 fp=—- - -
=
=R
=
=
0 20 40 60 80 100 120
APV channel
[ ADC for FGT
.- 4000
5]
&
Q
9 3500
<

3000

2500

2000

1500

1000
500

0

APV channel




run_13083027 _FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
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run_13083027 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB

Fri Mar 23 09:35:20 2012
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run_13083027 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Fri Mar 23 09:33:20 2012
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run_13083027 _FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Fri Mar 23 09:34:47 2012
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run_13083027 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Fri Mar 23 09:35:22 2012
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run_13083027 _FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Fri Mar 23 09:33:22 2012
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run_13083027 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Fri Mar 23 09:34:47 2012
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run_13083027 _FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
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run_13083027 _FGT_RMS_1,Timebin=2,Disc=5,asmb=5DA
Fri Mar 23 09:35:23 2012
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run_13083027 _FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13083027 _FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13083027 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Fri Mar 23 09:35:23 2012
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run_13083027 _FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB

Fri Mar 23 09:33:31 2012
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run_13083027 _FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
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[ADC MPV for RDO=1ARM=4,APV=17

MPV (ADC-ped)

-500

i i
80 100 120

[ ADC MPV for RDO=1,ARM=4,APV=18 "}

MPV (ADC-ped)

-500

20

40

APV channel

[ADC MPV for RDO=1,ARM=4,APV=19 _}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

20

40

80 100 120
APV channel

i i
80 100 120

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

20

0

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=21 "}

MPV (ADC-ped)

1500

1000

500

-500

20

40

i
80 100 120
APV channel

. .
— . .
1 1 1 Il Il
Q 20. 40 A0 20 100, 120

APV channel




run_13083027 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Fri Mar 23 09:35:24 2012

[ADC RMS for RDO=1,ARM=4,APV=17 _}

700

600 f—

RMS (ADC-ped)

H
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=18 "}
500

TTT

RMS (ADC-ped)

L1l

1
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=19 |

16

14 =

RMS (ADC-ped)

12 =

1
08 f=
06
04

0.2

0

RMS (ADC-ped)

°THI]I TFTATI r|n[|1n]|r|1|r

i
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=21 "}

18 [
16

14 [

RMS (ADC-ped)

12

10

120

APV channel




run_13083027 _FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Fri Mar 23 09:33:34 2012
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run_13083027 _FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Fri Mar 23 09:34:51 2012
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run_13083027 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Fri Mar 23 09:35:25 2012
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run_13083027 _FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
Fri Mar 23 09:33:38 2012
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run_13083027 _FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Fri Mar 23 09:34:52 2012
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run_13083027 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Fri Mar 23 09:35:26 2012
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run_13083027 _FGT_ADC _1,Timebin=2,Disc=1,asmb=1CD
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run_13083027 _FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC
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run_13083027 _FGT_MPV_1,Timebin=2,Disc=3,asmb=3BC
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run_13083027 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
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run_13083027 _FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC
Fri Mar 23 09:34:03 2012
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run_13083027 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Fri Mar 23 09:35:33 2012
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run_13083027 _FGT_ADC _1,Timebin=2,Disc=3,asmb=3CD
Fri Mar 23 09:34:05 2012
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run_13083027 _FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Fri Mar 23 09:35:00 2012
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run_13083027 FGT_RMS 1, Timebin=2,Disc=3,asmb=3CD
Fri Mar 23 09:35:33 2012
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run_13083027 _FGT_ADC _1,Timebin=2,Disc=3,asmb=3CD

Fri Mar 23 09:34:08 2012
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run_13083027 _FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Fri Mar 23 09:35:01 2012
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run_13083027 FGT_RMS 1, Timebin=2,Disc=3,asmb=3CD
Fri Mar 23 09:35:34 2012
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run_13083027 _FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC
Fri Mar 23 09:34:12 2012
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run_13083027 _FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Fri Mar 23 09:35:02 2012
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run_13083027 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
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run_13083027 _FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Fri Mar 23 09:34:16 2012
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